
Na oukabygwoses za
Tagakazw Kava 2251 Woze
os kaOs TEq:Twoy vol
LOXS : y +908Ezag102ck
Fizuza
1)-+1) +3 = 1+ (4 +5)
2) (2+ 1)#7 = 2# (9+H)
3)(1 +5)+8 = 3#(5)
4)(-3+3)-1 = 1 +(3#7)
3)(7 +4) = 1 =

-1 + (4 - 9)



6)(- 2 - 3) - D= (1 -3) - 5

7) (2 - D1. 3 = 1. (4 . 5)

⑧)(2 - 4) -A = 2 -/ .7)
9) (3 :1)· B = 3 · (4 .5)

10) (D . 1-31) ·5 = f2) ·(fx) -5)



41)*** ((#3x2
= ( #(x+ 3x2)

(2)(A3xY)+ 1](# (5x4)
=> 11 +(A2x*4+ 1-5x)



13)
(-x + x) + B = = x # (1)#x)#

14)

(B .x) . (-x) = x . (x-()

15)
ex2 : (B . xY)- .x%).x*



nuosis :
-

17 4
, 3 91) x2, 3 x2

12) -2x3 , - 3x4
2) 9 , 7

13) X , X
3) 3 , 8 14) x , -x
4) 7,-3 15) x8 , -2x2
3)9
,
3

6) 5 , = 2

7) 4 , 2

· 7 , 44,5
10) -2


